Holley

Holley Accessory Drive and QOil System Kits

20-340 shown

Covered products:

Part Numbers Type Description

Including alternator, A/C, P/S, timing cover, oll

20-340 & 20-340BK | Complete Kit pump, oil pan, other accessories, and adapters.

Allows adding components for any custom
20-320 & 20-320BK Base Kit application not needing all accessories and/or
different alternator choices

This instruction sheet also covers individual components that may or may not be
included in the above Kits.

H



Table of Contents:

D1 11T o EST T 0] 0 F TSP 3
e N 0T 0 [ od £ o ) o o RSP UURTSPRTR 3
APPHCAION NOTES ... it e et e e aanes 4
ASSEMDBIY INSTFUCTIONS ...ccii e e 4
Oil Pan and Timing Cover Removal: ........ccccooiiiiiiiiiiiii e 5
Timing Cover ASSemMDIY: ..o 6
Water Pump and Gasket Installation: ..........ccccooooiiiiiiiiii i, 7
Oil Pump Installation: ... e 8
Crank Seal Installation: ... 10
Damper Pulley Installation: ... 11
Oil Pump Clearancing and Torqueing ProCessS: .....ccccovvviieeiiiieviiiiennnnnnn, 11
Water Inlet Options and Installation:..........cccoooii i 12
Ol Pan Assembly: ... 12
Oil Transfer Tube: ..., Error! Bookmark not defined.
Alternator INsStallation: ... 15
OPTIONAL ACCESSORY - P/S Pump/Reservoir Installation: .............. 16
OPTIONAL ACCESSORY — A/C Compressor Installation: .................... 17
Belt Tensioner Installation: ... e 19
Belt INStallation: ... 20
OPTIONAL ACCESSORIES - Pulley and Tensioner Covers.: ................ 20
PRE-START OIL SYSTEM PRIMING.......cooi e 21
Oll Pressure SPring ACCESS: ..ot e e et eaa s 22


file:///C:/BigFiles/CAD%20Engines/INSTRUCTIONS%20-%20Godzilla%20Oil%20System,%20Pan,%20Drive/199R12391.docx%23_Toc100741208

Dimensions:

Shown with P/N 300-900 low-profile intake and P/N 534-265 fuel rails. Dimensions are with P/N 197-300 small
case alternator. Large case alternators will be slightly taller.

/2
51/2 [293mm]|

¢
|, L140mm]|
b g B8 63/4"

[219mm = | Rear Face of
l¢L172mm Engine Block

A ]

N ; A

A k o
29" s | o =2
557mm
20 5/8"
1524mm|
19 3/8"
‘,493mm\ y
Y v VvV |
!
200mm| Front Face of 6 1/4
Engine Block 159mm
15/8" SN2
‘42mnm ) <77276mm7\> 97/8"
¥ 13/4° [252mm]
101/4" 299mm| : : >
[259mm| D
S
24 1/4"
» 614mm >

Introduction:

Holley’s High-Mount accessory drive and innovative oiling system has everything pulled up and in
tighter than other options. When paired with Holley’s low-profile intake manifold, this system allows
for a bolt-in swap to most Mustang bodies and other applications while retaining the factory hood.

The patent pending oil system replaces the factory bottom-mounted oil pump with a more

conventional crankshaft-driven, front-mounted design. Oil cooler connection allowances are also
provided.

The accessory drive incorporates the timing cover, water pump, and alternator, and can also be

configured with A/C and/or P/S, if desired. This system works with the original crank pulley, as well
as, aftermarket damper/pulleys.



Application Notes:
o Oil Filter: Motorcraft P/N FL820S
e PAN CAPACITIES: Total Oil Capacity w/ stock filter — 6.5 Qt. (Sump Oil Capacity — 6 Qt.)

e Mustang Applications (1979-2004): This accessory drive and oil system, when used with the Holley’s
low-profile intake and engine mounts, allows for direct fitment and clearance under the stock hood.

o Compatibility requires the use of a stock 1996-2004 mod-motor K-member, or aftermarket K-
member designed for use with mod-motor engines.

o This rear-sump oil pan is designed to work with engine/transmissions mounted in the stock
crankshaft centerline offset position. Engines/transmissions mounted in a modified crankshaft
centerline position may experience interference of the oil pan with the K-member.

e Other Swap Applications: This system also allows clearance for other applications that originally
utilized a rear sump oil pan.

e External P/S Reservoir Option: In some applications, the supplied reservoir may interfere with the
vehicle. In these cases, a remote reservoir can be utilized. Holley P/N PSO001ERL will adapt the
supplied P/S pump to a connection appropriate for use with a remote reservoir.

e Hydro-Boost Applications: Use adapter P/N PSO002ERL and reservoir 198-211 or 198-212. These
reservoirs have the additional inlet for the hydro-boost return.

MODULAR ACCESSORY OPTIONS:

The accessory drive components in this system can be configured in several different ways. For
example, there are alternator options available for different electrical demands. Also, deleting the A/C
and/or P/S are options if configured as a custom modular setup. The “base kits” supply all but the
component’s with options. If you purchased a “Holley complete kit”, all these options are already
chosen for the most common, cost effective combination. See the “included components list” for
items that will be included in these kits.

For those configuring a custom setup, review each section below. The part numbers in BLUE are
your choices and may need to be purchased in addition to your “base kit”. Here you can review and
decide which components will be required for your individual needs. When BLUE numbers are listed
as XXX/ ZZZ, the first is the natural version and the second the black version of that component.

Assembly Instructions

IMPORTANT NOTE IF PAINTING COMPONENTS: The alternator and A/C compressor ground
through the brackets. If painting or coating these brackets, the mating surfaces must all be bare metal
allowing a ground path from the accessories’ mounting feet to the engine block and ultimately the
negative terminal on the battery.

NOTE:

e Read the entire instruction sheet before beginning.
e |tis important to follow all these instructions in the order below.

4



Oil Pan and Timing Cover Removal:

Remove the oil pan assembly, damper pulley, timing cover, drive chain, and oil pump jackshaft
assembly. Make certain to slide the chain drive gear off the crankshaft. Leave all timing chain
components in place. Refer to engine maintenance handbook for disassembly details.

HELPFUL HINT: There is a black
plastic pin above the olil filter that
must be removed before removing
the oil pan. First, remove the
retainer bolt. Next, using needle-
nose pliers, pull the pin out. It will not
be reused.

' :

NOTE: Both the timing cover and oil pan are originally sealed with RTV sealant and will require light
prying to remove. Tabs on the parts being removed are provided to help with this process.

®)

:

. S

The engine should be disassembled to appear similar to the below.

At this time, clean all RTV surfaces well with a scraper. Take care not to scratch the surfaces.
5



Timing Cover Assembly:

Components Required — 97-401 / 97-417 timing cover
Heater Options: P/N 97-425 heater delete kit -OR- 300-901 heater line adapter

NOTES:

The first step in installing the timing cover is to configure the heater hose ports for your application.
The next steps will explain assembly if utilizing a heater.

e Heater delete applications — use 97-425 for specific components to block off the ports.
e Heater applications — Use 300-901 heater line adapter. This adapter will work with either the
original Ford or Holley intakes and is required for A/C applications and the Holley low intake.

This adapter is not required for A/C delete applications when using the original Ford intake.

300-901 - Before installation remove the original top heater tube from the top front of the engine
block. Oil all O-rings and mating surfaces before assembly.

Install O-ring and retainer
plate as shown below.
Next, install the two M6
bolts included with the 300-
901 as shown to the right.

o

NOTE: Torque M6 bolts to 85 in./Ibs.

NOTE: On all NPT adapters, use thread sealant
(Loctite® brand 567 pipe thread sealant or
equivalent). Install to finger tight, and then tighten
2 to 3 rounds.

WARNING: Loosening NPT fittings after
installation can cause leaks.




Reinstall all original sensors to the new timing cover:

ol

Water Pump and Gasket Installation:
Components Required —GM 12619770 gasket and 97-200 water pump assembly

NOTE: Make certain the gasket and pump are aligned to the dowel pin.

Water Pump

M6 X 20 Button Head (6))’

NOTE: Torque M6 bolts to 85 in./Ibs.

WARNING: Do not overtighten water pump bolts.
7



Oil Pump Installation:

Components Required — Idler bushing, 302-101 oil pump drive adapter, and 302-100 oil pump

Remove original bolt and
bushing insert from chain
idler's lower mount.

Then install the supplied low
profile bushin%an M6 flat
head bolt.

2 ) Low Profile Bushing
Before installation, apply a layer

of motor oil to the inside surface

of the pump drive adapter.
M6 X 35 Flat Head
The smooth outside ring should
be oriented forward

Torque M6 bolt to 85 in./Ibs. (use blue thread locker)

Install pump onto pump drive gear
as shown. Make certain the pump is
all the way back and not hung on
the drive gear step.




Inspect timing cover to confirm all O-rings are installed and free of surface damage. Oil all O-rings.
Confirm all the front sealing faces of the engine are clean and there are no deep scratches.
Install the timing cover to the block and torque bolts.

M8 X 60
Flange Head

M8 X 100
Socket Head

NOTE: Torque M8 bolts to 18 ft./Ibs.



Use a lineup tool through the timing cover’s (x4) front holes to align the pump’s threaded mounting
holes to the front cover. The pump can also be moved to position by reaching up under the cover.
Install all four bolts.

NOTE: Hand tighten these only until the pump just touches the O-rings (do not compress the O-ring
at this time). The pump torqueing process will be performed after the damper pulley is installed.

Flange Headw @

NOTE: Do not tighten bolts at this time.

Crank Seal Installation:

Components Required — Ford P/N GK2Z-6700-A
seal and 97-400 disposable seal install tool.

The crankshaft seal is to be installed with the
rubber side facing out towards the included install
tool. After lubricating the seal with motor oil, place
it on the tool’s pilot. Place the seal and tool over
the crankshaft and align to the timing cover.

Inspection Windows

A damper installation tool must be used to seat the
seal. This tool is typically available to rent from

local auto parts retailers. Thread the damper Crank Seal

installation tool into the crank by hand. Then, use Seal Install Tool

a wrench on the nut of the tool to tighten until you

feel the seal tool just bottom out on the front cover. Damper Install Tool

Inspect the seal while tightening to ensure it
presses in square to the timing cover. Visually
confirm that the seal is flush to the cover.

10



Damper Pulley Installation:

Component Required — Ford P/N LC3Z-6A340-A damper bolt

If installing an aftermarket damper, see the manufacturer’s directions. If reinstalling the original
damper, follow the below.

1.

2.

Lubricate the outer surfaces on the damper pulley that will come into contact with the crank
seal with motor oil.
Use the installation tool to press the damper pulley onto the crankshatft.

NOTE: For the tightening process, a flexplate locking tool should be used to prevent the engine from
rotating.

3.

When pressing the damper on, you should feel a notable stop when the damper bumps the
pump drive adapter.

4. Remove the damper install tool and install the 1. Torque to 66 ft./Ibs.
included new OE damper bolt. The original damper 2 Loosen 360°
bolt is torque-to-yield and cannot be reused. 3. Torque to 129 ft./Ibs.
5. Torque the damper bolt with this sequence: 4. Torque to 150°
5. Remove the flexplate
locking tool
STEP 1: Install

damper/pulley using
installation tool

STEP 2: Install new
damper/pulley bolt by
following torqueing sequence

STEP 3: Tighten pump
bolts by following
torqueing sequence

Oil Pump Clearancing and Torqueing Process:

1.

2.

3.

With oil pump bolts finger tight and just touching the internal O-rings, rotate engine one round
at the crank damper bolt.

Tighten the (x4) oil pump bolts evenly until the pump just touches (metal to metal) the timing
cover. Rotate the engine an additional full round.

A crow’s foot tool on the torque wrench will likely be required to reach the bolt heads behind

the damper pulley. Orient the crow’s foot 90° to the wrench so there is no impact on the torque

measurement. Evenly torque all (x4) oil pump M8 bolts to 18 ft./Ibs.

11




Water Inlet Options and Installation:
Inlet Options: — P/N 97-343, 97-341, -OR- Mopar 53021536AC
HELPFUL HINT: The Holley timing cover allows for different water inlets to make sourcing radiator

hoses for your swap application easier. Complete kits includes a 45° swivel P/N 97-343. In addition
to this angled adapter, the straight and 90° adapters can be sourced if that better fits your application.

Straight -
Mopar P/N
53021536AC -

Confirm O-ring is in
place before
installation

K

45°
Holley P/N
97-343

£

90°
Holley P/N
97-341

97-343 included
with complete kits

NOTE: Torgue M8 bolts to 18 ft./Ibs. Tighten bolts evenly to ensure an adequate seal.

Oil Pan Assembly:

Components Required — Oil pan, P/N 302-109 pickup tube assembly, 302-108 windage tray,
(x2) P/IN 12666993 GM seals, and Ford seal LC3Z-6710-A seal

Oil Cooler Options — P/N 302-111 oil cooler port bypass cover -OR- GZ0O001ERL oil cooler AN
adapter

NOTE: Before assembly, inspect oil pan and components to ensure they are free from contaminants.
Flush all passages to confirm there are no unseen contaminants.

12



Cooler by-pass option:
P/N 302-111 will bypass
the IN and OUT cooler
ports.

6 X 18 Socket Head

Oil cooler option:
P/N GZO001ERL AN adapter allows for an external
oil cooler.

NOTE: THIS COVER IS
REQUIRED IF NOT
UTILIZING THE PORTS.

WARNING, REFER TO THE IN AND OUT
MARKINGS ON YOUR PARTICULAR PAN. SOME
APPLICATIONS ARE REVERSED. IF PLUMBED
BACKWARDS, ENGINE DAMAGE CAN OCCUR.

Plug

Drain-back port option:

All oil pan versions have
additional material in this
area for a 1/2" NPT turbo or
Oil filter other oil drain-back port. On
adapter versions that have the port
machined at the factory, a
plug is included for
applications not utilizing.

NOTE: Torque M6 bolts to 85 in./Ibs. and drain plug to 18 ft./Ibs. NPT adapters — use thread sealant
(Loctite® 567 pipe thread sealant or equivalent). Install to finger tight, then tighten 2 to 3 rounds.

‘ ‘ ((5) M6 X 12 Flange Head

M6 X 95 Flange Head

M6 X 16
Flange Head

M6 X 12
Flange Head
(pickup to
floor of sump)

NOTE: Torque M6 bolts to 85 in./Ibs.
13



O-Ring

GM P/N 12666993 O-Ring
Ford P/N LC3Z-6710-A

NOTE: This O-ring is
naturally oval and
must be formed
when installing into
the round groove.

At this time, trim the cover O-ring cord ends flush |

to the bottom of the engine block with a razer blade. /

When installing the oil pan, add a 3/8" ball of RTV at these
two locations as well as the two at the rear cover.

Oil Transfer Tube:
Component Required — P/N 302-86

This transfer tube allows for pump/pan alignment
variations. Before installation, confirm both O-rings
are in their respective groove. Fully lubricate both
O-rings with motor oil.

Oil Transfer Tube

WARNING: The Oil Transfer Tube MUST be
installed or engine damage will occur.

14



The Qil Transfer Tube
can be first inserted into
either the oil pump or the
oil pan. We suggest fully
inserting it into the oil
pan bore as shown.

Apply a 3/16" bead of automotive
RTV around the pan flange
highlighted in green.

Confirm all three black
O-rings are still fully Confirm the two dowel pins are up
seated to their grooves. flush to the bottom of the pan flange.

Use the (x19) M8 x 30 Flange Head Bolts to assemble the pan to the engine. Torque the bolts to 18
ft./Ibs. starting with the center bolt on each side and working outward in an even pattern.
Alternator Installation:

Components Required —P/N 97-402 / 97-420 bracket, 97-150 idler, and 197-400 harness pigtail
Alternator Options: 197-300, 197-301, 197-302, -OR- 197-303

NOTE: For high RPM race applications, it is recommended to use one of Holley’s Premium
Alternators (197-302 or 197-303).

Bracket works with
Holley alternators:
197-300, 197-301,
197-302, and 197-303

Bolts and bracket
included with 97-402

M10 X 90
Flange Head

M10 X 80 Flange Head

M10 X 50T 97-150
Flange Head W il
M10 X 65 /G- M10x 35

Flange Head Flange Head

NOTE: Torque M10 bolts to 36 ft./Ibs.
15



When wiring the alternator, install the 197-400 plug into the alternator. Next, connect the yellow wire
to switched voltage that is “on” when the key is in the run position. If the vehicle has a “charge
indicator light”, the yellow wire can be connected to that circuit.

OPTIONAL ACCESSORY - P/S Pump/Reservoir Installation:
Components - 198-240 adapter, 97-152 pulley, and 198-104 P/S pump

Hand tight

1. Preinstall the -6 AN adapter/tube to power
steering pump/reservoir at this time.

2. Install the power steering pulley using a pulley
installer tool.

HELPFUL HINT: Pulley installation tools are available for rent at most auto parts stores.

Pump shaft and
pulley hub must
be perfectly flush
after installation
for proper belt to
pulley alignment

NOTE: See page 3 for remote and hydro-boost reservoir options, if your application
requires these.

16



3. Install pump assembly to engine.

Pulley shown transparent. All hardware will be
installed behind with access through the pulley
windows.

Included with

M8 X 80 198-240\@'
Flange Headx > o\ .
M8 X 20 e -~ | Y
Flange Head o - i S

M8 X 80/’%"

Flange Head

NOTE: After assembly torque M8 bolts to 18 ft./Ibs. Last, torque banjo bolt to 25 ft./Ibs.

OPTIONAL ACCESSORY — A/C Compressor Installation:

Components — P/N 199-102 / 199-104 compressor, 97-403 / 97-421 bracket, 97-404 grooved
pulley, and 199-202 line adapter

1. Install compressor and grooved idler to bracket.

M8 X 95 :
Socket Head@ {

oy
Sy

199-102 / 199-104

Bolts and bracket i
included with :

97-402 / 97-420
97-404

.. M10 X 35
VFlange Head
NOTE: Torque M8 bolts to 18 ft./Ibs. and M10 bolts to 36 ft./Ibs.
17




2.

3.

Install bracket assembly to engine.

~——M10 X 35 Flange Head

|
\ L NOTE: Tighten this bolt last
O\
\

M16 X 75 Socket Head

\ A 12 mm hex adapter tool is included to
adapt the large cap heads to a socket
wrench if a 12mm hex key is not available.

NOTE: Torgue M6 bolts to 85 in./Ibs. and M10 bolts to 36 ft./Ibs., and M16 bolts to 120 ft./Ibs.

Install line adapter 199-202.

Remove the compressor’s cover plate.
Make certain that the two O-rings stay
in the compressor grooves.

Install the supplied line adapter manifold
and M8 X 18 Socket Head (2)

NOTE: Torque M8 bolts to 18 ft./Ibs.

18



Belt Tensioner Installation:
Tensioner Options: P/N 97-179 -OR- 97-151

e Ifinstalling A/C:
Component — 97-179 Tensioner

M8 Oversized Washer

M8 X 70 Button Head

NOTE: Torque M8 bolts to 18 ft./Ibs

e |If NOT installing A/C:
Component — 97-151 Tensioner

M10 X 35 Flange Head

NOTE: Torque M10 bolts to 36 ft./Ibs.

19



Belt Installation:

HELPFUL HINT: When installing the belt, route around all the pulleys except the water pump pulley.
Slip the belt on the smooth water pump pulley last.

NOTE: All below are with a small case alternator. If using a large case alternator, a slightly longer
belt will be required.

With All Accessories Including A/C A/C Delete — 6PK1685 Belt

and Power Steering — 6PK2010 Belt _
A/C and Power Steering

Power Steering Delete — 6PK1885 Belt Delete — 6PK1560 Belt

OPTIONAL ACCESSORIES - Pulley and Tensioner Covers:

Components — P/N 97-185 A/C cover, 97-187 alternator cover*, and 97-158 tensioner cover**

Cosmetic covers are included with some kits. If not included, these can be purchased individually.
See instructions included with cover for installation procedures.

NOTE: *Alternator cover only works with Holley premium alternators (P/N’s 197-302 and 197-303).
**Tensioner cover works only with Holley tensioner P/N 97-179.




PRE-START OIL SYSTEM PRIMING

WARNING: A newly installed oil system MUST be primed before initially starting the engine.

1. Confirm the oil filter is installed.
2. Remove both 3/8” NPT plugs shown below.

3. Prime engine at the pressure-side port. To help with the process, an NPT / barb adapter can
be temporarily installed in this port. Tighten snug only.

HELPFUL HINT: A brass or plastic NPT 3/8” NPT to push-on barb can be sourced at most hardware
stores.

4. With either a compressed air priming kit or a common garden sprayer, force 2 - 3 quarts of
motor oil into the engine at the pressure-side port.

5. Turn the crank pulley clockwise one round. (Remove spark plugs to relieve compression for
this step if desired.)

6. Confirm oil is present inside the vacuum-side port. If not present, recheck after the next step.
7. Pushin 1 to 2 additional quarts.
8. Remove the nipple / NPT adapter and quickly reinstall the original pipe plugs.

9. Fill engine with oil per the dipstick markings. Total oil should be 6 to 6 %2 quarts.

View looking up from under the engine.

NOTE: Torque drain plug to 18 ft./Ibs. NPT adapters — use thread sealant (Loctite® 567 pipe thread
sealant or equivalent). Install to finger tight, then tighten 2 to 3 rounds.

21



Oil Pressure Spring Access:

For certain applications, higher than normal oil pressure is required. Typically, the oil pan must be
removed to change the pressure spring on an oil pump. The Holley oil system allows direct access to
the spring through the access port on the bottom front of the pan.

Holley high pressure spring P/N 302-102 can be purchased and installed to increase oil pressure by
approximately 10 PSI at higher RPMs.

To change the spring, remove the port plug, spring, and plunger. In some cases, the plunger may
stay in the port. Make sure when reassembling the plunger is on top of the spring and oriented
correctly.

NOTE: Torque plug to 30 ft./Ibs. (use blue thread locker).

Holley® Performance Products, Inc.
1801 Russellville Road
Bowling Green, KY 42101

Technical Support: 1-866-464-6553
Phone: 1-270-781-9741
www.holley.com

© 2023 Holley Performance Products, Inc. All rights reserved. Tous Droits Réservés

199R12391
Date: 5-16-23

22


http://www.holley.com/

